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1. S P IR © 1.  Management is needed at :

(A) 9 WK (A) Lower level
(B) WeIH ®WR W (B) Middle level
(C) S® TR W (C) Top level
(D) I WRI W (D) All levels
2. JFIG YR B 9D o 2. The father of scientific management
was :
(A) <R (A) Taylor
(B) WA (B) Fayol
(C) TSl AR, (C) George R. Terry
(D) Tt (D) Appley
3. UYSU B ART : 3. The essence of management is :
(A) T (A) Co-ordination
(B) W7o (B) Organisation
(C) b (C) Staffing
(D) SUYa H A Bl 7l (D) None of the above
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4., fOSE AT

(A) 3BT

(B)
(©)
(D)

BT
MECIRIE]

Sy F4l

5 YO BT R

(A)

(B)

(©)
(D)

ddId @ folg
afasr & fow
A @ foru

Sygad F4l

6. Sl gRI UG+ § :

(A)
(B)
(©)
(D)

Rigr=
ddHID

fafer
Swad # ¥ Plg T

7. o @1 R R

(A)
(B)
(©)
(D)
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71 vawr @
FH g BT
SR ekl
T EROR WRI B

(4)

Planning is :

(A) Short-term
(B) Medium-term
(C) Long-term

(D) All of the above

Planning is for :
(A) Past

(B) Future
(C) Present

(D) All of the above

Management by objectives is :
(A) Principle

(B) Technique

(C) Method

(D) None of the above

The function of decision-making is of :
(A) Lower management

(B) Middle management

(C) Top management

(D) All levels of management

Set-D



10.

11.

w@ie faverwor ¥ dfferd @

(A) MR
(B) 3ffard
© s
(D) SWE ¥ | TS el

T T fohar o §
(A) JTdH TR $ Ga N
(B) HEH WR & Y] gRI

(C) 9 TR & ya4 gN
(D) SWYad # | BIg T2
Y T

(A) MRS

(B) tfw

(C) IMID

(D) SWad # | BIS T
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(5)

10.

11.

SWOT analysis includes :

(A) Strengths
(B) Weakness
(C) Threats

(D) All of the above

Controlisa/ an ......ccccceeueee. management

function.

(A) Necessary
(B) Compulsory
(C) Optional

(D) None of the above

Co-ordination is established :

(A) By top level management
(B) By middle level management
(C) By lower level management

(D) None of the above

Co-ordination is :

(A) Necessary
(B) Voluntary
(C) Unnecessary

(D) None of the above

Set-D



12. GvdIed Hedd & YHN B © ¢

(A)
(B)
(©)
(D)

13,  \eIdied Ufhar & RO B ¢

(A)
(B)
(©)

(D) 10

1

2

4

8

6

7

8

14, STRMIE Bl &
(A) ARBR BT
(B) IR &
(©) T (A) 3R (B)
(D) SWa ¥ ¥ IS Tl

15, PR & JoR 2d 2

(A)
(B)
(©)
(D)
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12.

13.

14.

15.

The types of communication network are :

A) 1
(B) 2
C) 4

(D) 8

The steps of communication process are :

(A) 6
B) 7
C) 8

(D) 10

Responsibility is of :

(A) Officer

(B) Subordinate

(C) Both (A)and (B)

(D) None of the above

Types of authority are :
A) 1
B) 2
€ 3

(D) 4
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16. YoM WU H GRS dBi BT I BT 16. First spell of nationalization of

fdam - commercial banks took place in :
(A) 1969 H (A) 1969
(B) 1996 H (B) 1996
(C) 1980 H (C) 1980
(D) 1982 | (D) 1982

17. PR SFUST § HHE-AT d@ W §h 17.  Which bank is lead bank in maximum

8§97 number of districts ?
(A) 3R d 37, (A) RBI
(B) . dI. s (B) SBI
(C) d§F 3% gfosar (C) Bank of India
(D) . T 4, (D) PNB

18. fafelRed # ¥ o9 W@ @& @@ 18, Which of the following is the third ‘C” of

&R credit ?

(A) TRA (A) Character
(B) il (B) Capital
(C) &Hdr (C) Capacity
(D) I (D) Conditions

AG—605 (7) Set-D



19.

20.

21.

frfaied & & a9 o 9@ & TEIN
da a1 wven 8 ?

(A) 3R 3R 41,

(8) UL T ¥ 4.

(C) Td. Sl .

(D) @M (B) 3R (C)

frfafed & @F-W den A A
TN TG IR R dTell Fared
AEHRI G B ?

(A) U Ta S
(B) I Udl. <. 4l
(C) UL T AL .
(D) TA. A g, 37,

ol T @ IR G o

WHR, ¥ WHR T Jadd 6 &

RIS BT U @ :

(A) 15:50:35
(B)
(©)

(D)

35:50:15

50:35:15

50:15:35
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19.

20.

21.

Which of the following is cooperative

bank or institution of agricultural credit ?

(A) RRB

(B) PACS

(C) LDB

(D) Both (B) and (C)

Which of the following cooperative credit
institutions is functioning at apex level in

states for disbursing long-term loans ?

(A) PLDB

(B) CLDB
(C) PACS

(D) NCUI

RRB’s share capital is being subscribed

the central government, state

by
government and sponsoring bank in the
ratio of :

(A) 15:50:35
(B)
(©)

(D)

35:50:15

50:35:15

50:15:35
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22.

23.

24,

i feer  #  uRgwRml  wEd

g

(A) T U

(B) T U

(©) T (A) 3R (B)
(D) SWE # W B &
‘DS’ I B IR g -
(A) olfes 7 9

B) e < A

(C) 3MISl I

(D) Wd ¥< A

e gaEer 9ffa § daee g

g

(A) Tl srfereRy
(B) 3ol 9% TRy
(C) & BRI

(D) @Y ATHN

c
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22.

23.

24,

In balance sheet assets are on :

(A) Rightside

(B) Leftside

(C) Both (A) and (B)

(D) None of the above

The word ‘credit’ is derived from a/an :

(A) Latin word

(B) Greek word

(C) English word

(D) French word

In district consultative

convenor is :

(A) District magistrate

(B) Lead bank officer

(C) Field officer

(D) Agriculture officer

committee

Set-D



25, fy=foiRad § o9-91 §bf &7 §6 & w9 25.  Which of the following is known as bank

¥ S ST R 2 of banks ?

(A) 3R d 37, (A) RBI

(B) Ta. 9. . (B) SBI

(C) 3R 3R 41, (C) RRB

(D) SUYd H H I el (D) None of the above

26. f=foRed & 9 @F-91 @ @l 26.  Which of the following is the formula of

ST BT T $9? credit need ?

(A) Cn=Er+Eu (A) Cn=Er+Eu
(B) Cn=Ir+Eu (B) Cn=Ir+Eu
(C) Cn=Er-Eu (C) Cn=Er-Eu
(D) Cn=Ir-In (D) Cn=Ir-In

27. Tfcifad # & @19 Ue QAfd | & 27. Which of the following serves as a

9 H B P18 P refinancing agency ?
(A) IR IR, L (A) RRB

(B) R dl. 3TE. (B) RBI

(C) TH. dl. 3. (C) SBI
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28. 9Rd H WEPN WG AT Bl GAREHT 28. The structure of cooperative credit

3. society in India is :

(A) 3 W (A) Two-tier

(B) dH WY (B) Three-tier

(C) T TR 3R dF W (C) Two-tier and three-tier
(D) SUYd H H I Tl (D) None of the above

20. 9§ 1975 ¥ fohaa &g gMEior di P 29. How many Regional Rural Banks were

AT P T ? established in year 1975 ?

30. fr=foifad & a9 e st ¥ 30. Which of the following is a lead

% ? bank ?

(A) TEHR 4B (A) Cooperative Bank
(B) WCII 9 (B) Nationalized Bank
(C) &g I §% (C) Regional Rural Bank
(D) SUYa H A Bl 7l (D) None of the above

AG—605 (11) Set-D



31.

32.

33.

34.

AG-605

g

(A) BHd SR & folg
(B) W @ forg
(C) HScil UTeM & forv
(D) SWF &l

frfafad § 9 a9-91 9/ @ fgdy
‘AR’ F 7

(A)  Ffwe

(B) el

(©) i

(D) fafvder & wr gfcrat

gl §o 3 gear 1 IR fbw
qy H garr ?

(A) 1969
(B) 1980
(C) 1982
(D) 1993

frafafea & 9 fo §& @1 e 9@
4 faerg fomam mar ?

(A) ARG W< 96

(B) TSI I

) Rifsae 9@

(D) SelrETE I

(12)

31.

32.

33.

34.

KCC loan is
for :

advanced to farmer

(A) Crop production
(B) Animal husbandry
(C) Fisheries

(D) All of the above

Which of the following is the second ‘R’
of credit ?

(A) Return

(B) Repayment

(C) Risk

(D) Return from the investment

Central Bank of India was nationalized in

the year :

(A) 1969
(B) 1980
(C) 1982
(D) 1993

Which of the following banks was
merged in Indian Bank ?

(A) State Bank of India

(B) Bank of Baroda

(C) Syndicate Bank

(D) Allahabad Bank

Set-D



35.

36.

37.

38.

AG-605

frfoRed & @ b §& &1 dom ea
% ¥ faerg fovar mar ?

(A) NRTT 9% 3P B

(B) FMscs I 3w ghvsar

(C) T (A) 3R (B)

(D) SWH # | B &l

TR & YIH RO H, TP [l
T I @ T E

(A) 14

(B) 8

C) 12

(D) 16

AR, q1. 3. BT GEATTd Rerd &
(A) TR #
(B) fowelt #
(C) TGS H

(D) g 4

T WeeRl  Affd affw o™

o
(A) 1904 #
(B) 1905 #
(C) 1906 ¥

(D) 1907 H

(13)

35.

36.

37.

38.

Which of the following banks was

merged in Punjab National Bank ?

(A) Oriental Bank of Commerce
(B) United Bank of India
(C) Both (A) and (B)

(D) None of the above

In the first spell of nationalization,

number of banks nationalized is :

(A) 14
(B) 8
©) 12
(D) 16

The Headquarters of RBI isin :
(A) Nasik

(B) Delhi

(C) Lucknow

(D) Mumbai

First Cooperative Societies Act was
passed in the year :

(A) 1904

(B) 1905

(C) 1906

(D) 1907

Set-D



39. fy=foRad § 9 @9-91 -ere § far 39 Which of the following is merged in

oy T & 2 NABARD ?
(A) T 3R S Al (A) ARDC
(B) T S (B) ACD
(C) 3R . <. I, (C) RPCC
(D) SUgadd JHI (D) Al of the above

40. IOHM H, az—fa 89 & foru 9rd ¥ 99 40. At present, the major institutions

supplying credit to agriculture sector in

THET W RO o dTell HeI &

India are :
(A) 3R 3R 41, (A) RRB
(B) WEHN 4& (B) Cooperative Banks
(C) aR® % (C) Commercial Banks
(D) Suga H A Bl el (D) None of the above

41. M ffeR  IoFT WauYH  I9ER 41. Village adoption scheme was first

T conceived by :

(A) UL T gR (A) PNB

(B) TW. dl. dI. g (B) SCB

(C) 3TN 9% gRT (C) Andhra Bank
(D) ©H. dl. 3g. gNT (D) SBI

AG—605 (14) Set-D



42, q09N H, IR YSY H &I U Sh
GRS %:

(A)
(B)
(©)
(D)

43. foam mfec 1€ oM

oo o AW

JIR®T B T |

(A)
(B)
(©)
(D)

1995
1997
1998
1999

a9 9§

44, JSREN TOET B JGURIT S

g

(A)
(B)
(©)
(D)

W FART 0T & gy §
TUBTAT KT b Fre §

DTl T & T |
Swad # ¥ Plg T

45, Y e Wg AN B YOAT B

T

(A)
(B)
(©)
(D)

AG-605

1990 #
1992
1995 H

1999 H

(15)

42.

43.

44,

45.

At present number of RRB in Uttar
Pradesh is :

(A) 3
B) 4
(C) 5
(D) 6
Kisan Credit Card scheme was launched

in year :

(A) 1995
(B) 1997
(C) 1998
(D) 1999

The concept of repayment plans will arise
in case of :

(A) Self liquidating loans

(B) Short-term loans

(C) Long-term loans

(D) None of the above

Self Help Group scheme was launched in
year :

(A) 1990

(B) 1992

(C) 1995

(D) 1999

Set-D



46. =foRgd & ¥ o9-91 $<¥ FEhN 46. Which of the following is known as

5 & w7 & . central cooperative bank ?

(A) e BN FEhRI dffd (A) Primary Agricultural Cooperative
Society

(B) f7eT BRI 96 (B) District Cooperative Bank

(C) U WEHNI §F (C) State Cooperative Bank

(D) Wi A e 9 (D) Primary Land Development Bank
47. Y e ST € & 47.  Agricultural finance includes :

(A) SgR ol T Yol (A) Borrowed capital

(B) w@d & Yol (B) Owned capital

(C) G (A) 3R (B) (C) Both (A) and (B)

(D) Suga H A Bl el (D) None of the above

48. g ooy s @1 GRE BT 48. The term ‘financial statement’ refers

% : to:

(A) THS YaTg IR DY Yarg |d (A) Cash flow and fund flow
(B) 3 fawvr | (B) Income statement

(C) e Freer ¥ (C) Balance sheet

(D) Sugad FI (D) All of the above

AG—605 (16) Set-D



49. 3N fear suidr @ - 49.

(A) TR Yol & 9
(B) ®REME Yot # uRadH
(C) T (A) ¥R (B)

(D) Sudad # ¥ IIg T

50. RIS WEHN |vod &l geirerd Red 50,

g

(A) fowelt 8
(B) ar H
() fau=m 4

(D) ded ¥

51. U 9l g g © 51.

(A) TS DR i o gfoear

(B) TIRE FIX Yot 3w gfoeam

(C) e PlRICT  IEIT 3K
gfosar

(D) e FHTHE BR FAARES g
gfvgar

AG—605 (17)

The balance sheet shows :

(A) The source of working capital

(B) The change in working capital

(C) Both (A) and (B)

(D) None of the above

The Headquarters of International

Cooperative Alliance is at :

(A) Delhi

(B) Geneva

(C) Vienna

(D) London

NCUI is ;

(A) National Coir Union of India

(B) Natural Coir Union of India

(C) National Cooperative Union of

India

(D) National Commission for

Universities in India

Set-D



52.

53.

54.

55.

56.

yq FT 1 B B 2
(A) aoE

(B) =T

(C) e

(D) ST W

T Il TIorT BN AR -
(A) @R

(B) el

(C)

(D) Suda Wl
CARRRERIR
(A) Sliga-Farg
(B) wfdTa YT

(C) dNR
(D) SWad # | BIg T2

SY Bl ¢ |

AT Y Faar B Gl Bl o :

(A &fow

(B) TEARR

(C) HHHIBR

(D) SWYad # | BIg T2
7T RIS ed AES e ®
(A) IRAT BT e |

(B) TIRIAl BT &H B A
(C) FRadar @ 9™ H
(D) SWad # | BIS T
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52.

53.

54.

56.

What is the function of management ?
(A) Planning

(B) Control

(C) Organization

(D) All of the above

A good plan must be :
(A) Rigid

(B) Flexible

(C) Rapid

(D) All of the above

Agri-business is oriented to :

(A) Subsistance
(B) Personal consumption

(©)
(D) None of the above

Market

The structure of agri-business is generally :

(A) Horizontal

(B) \Vertical

(C) Conglomerate

(D) None of the above

Effective planning always helps to :

(A) Increase risks
(B)
(©)

(D)

Decrease risks
Increase uncertainty

None of the above

Set-D



57. UEY T :
(A) fagm
(B) el
(©) T (A) 3R (B)
(D) SWH # W B T
58. &% IUIMI @ :
(A) NPT B H
(B) WIS HRIT A
(C) e Fwl A
(D) Suda Wl
59. V&Y @ faRIva 2
(A) TEHI T UfhaT 7 |

(B) T&w Ueh ATHINIG TfhaT 2 |
(C) ¥dY UH WMfRH iehal 7 |

(D) Suga Wl

60. U & UG 3R WEDH BRI P AER

g

(A) fAofae

(B) oA

(© fram

(D) SWad # | BIS T2

AG-605

(19)

57.

58.

59.

60.

Management is :

(A)
(B)
(©)
(D)

Science
Art
Both (A) and (B)

None of the above

Management is useful in :

(A)
(B)
(®)
(D)

Government work

Commercial work

Domestic work

All of the above

Characteristic of management is :

(A)
(B)
(©)

(D)

Management is a process.
Management is a social process.

Management is a collective

process.

All of the above

Base of main function and secondary

function of management is :

(A)
(B)
(©)
(D)

Decision
Organization
Planning

None of the above

Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR FRI9T SR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE AT GeH SHE SR BIe © |
IR Bl OMR NRR-e § Fd g9 awar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
ST TR T U IR T2 Plel IT 98ell 1T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM @ b GEM & A0S fodd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U9F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd YT & 3remar 3 del W foar
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ug forl WM |

8. WIeT 9Ud & ST Wt der fRierd @l
3T OMR Answer Sheet SUTE &XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. ffeq wfdT =& 2|

10. @5 W X% PR, YEH-GRAST B A H, IG-HR
& forv fou @reh o W & far o =iy |

11, qe-del H -4, dedgeicy, UoR qT Hegelk
B o ST T SHBT START BRAT afoid 8 |

12. 9 & &=l U9 Ul wURor § A=Tar 89 @
T H YT BT U WURYT & A BT |

qecaqul : YEIYRKIT Wiel W Y Wi PR o o

2y
i3
E
oy,
a,
j
8
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